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UNI-CLAMP Flexible type gﬁé
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FRTYL | BEEE | (mgm) | RLR | Fub | (kg) ” &
FT10 | FTU10 | FTZ10| FTB10 |FTN10100| FTS1012| 0.26 2,410 x
FT12 | FTU12 |FTZ12| FTB12 |FTN12125| FTS1214| 05 2,870 =
FT14 | FTU14 | FTZ14| FTB14 | FTN14150| FTS1416| 0.9 4,150
FT16 FTU16 | FTZ16 | FTB16 |FTN16150 | FTS1618 1 4,610 :
FT18 | FTU18 | FTZ18| FTB18 |FTN18175| FTS1820 | 1.7 7,250 |
FT20 | FTU20 | FTZ20| FTB20 |FTN20180| FTS2022| 1.9 7,660 f’
FT22 | FTU22 | FTZ22 | FTB22 | FTN22200| FTS2226 | 3.6 14,830 #
FT24 | FTU24 | FTZ24 | FTB24 | FTN24250 | FTS2428 | 4 15,660
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UNI-CLAMP Flexible type B
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FTBZ10 M10 0.17 1,540 @9
FTBZ12 M12 0.34 1,810 27
FTBZ14 M14 0.67 2,970 5%
FTBZ16 M14 - M16 0.67 3,100 i
FTBZ18 M18 1.3 5,280 4
FTBZ20 M18 - M20 1.3 5,280 @
FTBZ22 M22 2.8 11,670 z
FTBZ24 M24 2.8 11,670 é
%FTBZ4.5 M16 0.34 2,800
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B E | @&tk | b |t | ¢ | L | B (ki xa%ﬁig@
FTB10| M10 |105| 19 | 53| 80| 36 | 0.15 1,030 e
FTB12 M12 13 | 24 | 68| 100 | 45 | 0.3 1,160 Lz
FTB14 | M16-M14 |17 | 31 | 85| 125 | 56 | 0.5 2,180 2
FTB16 | M16-M14 |17 | 31 | 85| 125 | 56 | 05 2,180 L
FTB18 | M20-M18 | 21 | 39 | 106 | 160 | 71 | 1.2 3,760 :gmi ;5;%8 e ‘ N 55
mm 2w e e B, (S5t B
. ! b
FTB24 | M24-M22 | 26 | 49 | 134 | 200 | 90 | 2.3 8,980 7%
FTB45| M16 |17 | 24 | 68| 100 | 45 | 0.28 1,960
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FTzi0| M10 | 105 | 11 | 13 | 24 26 510 - ‘-E‘I?
FTz12| M2 13 14 | 16 | 30 56 650 : 0 ¥
FTZ14| M14 15 18 | 21 | 38 | 113 800 : = —d— ‘7 5T
FTz16 | M16 17 18 21 38 107 960 e ﬁ( ! *j}
FTz18| M8 19 23 | 26 | 49 | 240 1,520 Al i
FTz20| M20 | 21 23 | 26 | 49 | 230 1,520 :3@ fLSSC O ) 0
, %A 35~47HRC N
FTzee| M22 | 235 | 28 | 32 | 62 | 480 2,700 ot + —ursOLHo= Z
FTz24 | M24 26 28 | 32 | 62 | 460 2,700 i
% FTZ45|  M16 17 14 | 16 | 30 45 840
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